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* 1 irreducible components of dim¢ = 0, with total 41 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(i) Arc colorings
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ul® 4+ 8u13 + 24u!t 4+ 32u° + 18u” + 8u® + 8u? )

a1 = uld — —18u!t — 194% — 607 — 2u® — 4ud + u

u30 + 15u28 4+ —8ut+1
14u28 + o+ 8ut — u?

— 8u'® — 25418 — 38u!t — 31u? — 2007 — 14u® — 4u® —u
ul? + 9u17 + 32015 + 55013 + 4501 + 194° + 16w + 10u® — 3ud + u

( —ulT — 8ul® — 25013 — 38u!! — 31w — 2007 — 14u® — 4ud —u )

ag =

ag =

a6 = \u' + 9u17 + 32u!® + 55u!® + 45utt + 19u° + 16u” + 10u® — 3u® +u
(ii) Obstruction class = —1
(iii) Cusp Shapes = 4u’® + 4u3% + ... — 12u + 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs utt = u—1
Co,Cg ut +15ut? + -+ Bu—1
c3,C4,Co ul —u 4 -1
c7,C10, C11 ut +5u0 4+ —23u—3
Cs u't w0 4 — 53u — 37




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€15 C5 y* + 15y + - 4+ 5y — 1
C2,Ce Yy 42340 . 4 85y — 1
C3,C4, Cy y" 39500 . 5y —1
€7, €10, C11 y* + 43y + ... — 131y — 9
cg gt 19410 4 ..

— 34931y — 1369




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

—0.036967 + 1.1436401

0.42753 — 2.659691

8.24093 + 3.410951

—0.036967 — 1.1436401

0.42753 + 2.659691

8.24093 — 3.410951

—0.660133 4 0.4776241

—8.57548 — 2.189611

0.00248 + 3.136151

—0.660133 — 0.4776241

—8.57548 + 2.189611

0.00248 — 3.136151

—0.684144 + 0.4402801

—4.27384 — 8.984911

4.35745 4 7.895111

—0.684144 — 0.4402801

—4.27384 4 8.984911

4.35745 — 7.895111

= —0.623584 + 0.5124281

—4.55106 + 4.636241

3.54482 — 1.918621

—0.623584 — 0.5124281

—4.55106 — 4.636241

3.54482 4-1.918621

0.664139 + 0.4346401

—2.78722 + 3.541081

6.45783 — 3.374391

0.664139 — 0.4346401

—2.78722 — 3.541081

6.45783 + 3.374391

0.612358 + 0.4860421

—3.00487 + 0.676081

5.83606 — 3.006101

0.612358 — 0.4860421

—3.00487 — 0.676081

5.83606 + 3.006101

= —0.096872 + 1.3256101 —3.50591 — 1.716701 0
= —0.096872 — 1.3256101 —3.50591 + 1.716701 0
= —0.199961 + 1.3179801 —1.40317 — 2.830721 0
= —0.199961 — 1.3179801 —1.40317 4 2.830721 0
= 0.217658 + 1.3397101 —2.15015 + 8.220641 0
= 0.217658 — 1.3397101 —2.15015 — 8.220641 0

0.614559 + 0.1765291

2.60925 + 5.201341

10.53591 — 7.829621

0.614559 — 0.1765291

2.60925 — 5.201341

10.53591 + 7.829621

—0.600363 + 0.1285441

3.10340 + 0.065421

12.57860 + 1.498851

—0.600363 — 0.1285441

3.10340 — 0.065421

12.57860 — 1.498851

= 0.148692 + 1.3912901 —6.92446 + 3.509641 0
= 0.148692 — 1.3912907 —6.92446 — 3.509641 0
= 0.047931 + 1.3999901 —5.03762 — 1.888061 0
= 0.047931 — 1.3999901 —5.03762 + 1.888061 0

0.093172 + 0.5401061

0.77518 — 2.434531

4.67673 + 2.830721

0.093172 — 0.5401061

0.77518 + 2.434531

4.67673 — 2.830721

0.440573 + 0.3083681

—1.55862 + 1.345931

1.69201 — 5.881031
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0.440573 — 0.3083681

—1.55862 — 1.345931

1.69201 + 5.881031




Solutions to I V—=1(vol +/—=1CS) Cusp shape
uw=0.24207 + 1.473451 —8.94893 + 6.853781 0
u = 0.24207 — 1.473451 —8.94893 — 6.853781 0
uw= 0.21537 4 1.479711 —9.35158 + 3.692691 0
u= 0.21537 — 1.479711 —9.35158 — 3.692691 0
u = —0.24862 + 1.478541 —10.4751 — 12.39117 0
u = —0.24862 — 1.478541 —10.4751 4+ 12.39117 0
u = —0.21135 + 1.490721 —11.04330 + 1.609381 0
u = —0.21135 — 1.490721 —11.04330 — 1.609381 0
u = —0.23235 + 1.487811 —14.9420 — 5.44341 0
u = —0.23235 — 1.487811 —14.9420 + 5.44341 0
u = —0.404356 0.648370 15.5210




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Cs wtl — 20—
C2, Cg ut + 1500 4+ 4 5u—1

€3, ¢4, Co S TP |

c7, €10, C11 utt +5ut o —23u—3
cs utt +ut + - — 53u — 37




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,C5 y* +15y%0 + .. 45y — 1
Ca, C y*t +23y"0 -+ 85y — 1
C3,C4,C9 y41+39y40+~--+5y—1
C7,C10,C11 4310 + ... — 131y —9
Cs y* +19y* + - — 34931y — 1369




